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REZEE4tEFENX00

B4 ETmLEEEBRR/NEEZHPRSHEIRE--BR: 4F (RERER:4F->4F)

PNA21-01[#8[8]: 4F [BiLfEERETE]: LB 4 [X5:+244,Y20:+176]
BRI
ﬁﬁf};&;ﬁﬁﬂﬁ*ﬂf:m) KA | A RITEREL2.352.35cmE R
BILHEER: 1
+[/NER1-JB LB ER] 2.880%0.15 = 0.432 m2
BB 2
+[/NER1-JB LB EX] 0.300*0.15 = 0.045 m2
BB 3
+[/NER1-JB LB ER] 2.880%0.15 = 0.432 m2
BB 4
+[/NER1-JB LB ER] 0.300*0.15 = 0.045 m2
L EBSIEE /NG = 0.954 m2
LLE/NVEt: +0.954 = 0.954 m2

PNA21-01[#8[E]: 4F [BILiEERLHE] MERF5R: 9 [X5:+29,Y20:+176]
B E R SIE A E
ﬁﬁiﬂ%’-‘é;’%_r%ﬁllﬁﬂ:(1) KA | HERRITERE2.352.35cmB R
LI 1
+[/NEE1-FB I ABER] 1.180%0.35 = 0.413 m2
TR 2
+[/NEE1-JB L AB ER] 0.300*0.35 = 0.105 m2
LI 3
+[/NEE1-JEB I ABER] 1.180%0.35 = 0.413 m2
FILIEE: 4
+[/NE&1-JEB L AB ER] 0.300*0.35 = 0.105 m2
YL EEIIHEE/MET: = 1.036 m2
LLE/EE: +1.036 = 1.036 m2

PNA21-01[#£/8]: 4F [BiLEERL ] FLERF%: 8 [X5:-7,Y13:-163]

BB EBEE:
%ﬁiﬁ%éﬁ_r*ﬁﬁw*izm) KB M AITE®mL2.35*2.35cmEER
TEIIHEER: 1
+[/NER:1-FB I N ER] 0.303%0.15 = 0.045 m2
HEIINEER: 2
+[/NEE: - BN ER] 0.156%0.15 = 0.023 m2
WEIIHEER: 3
+[/NEE: 1B N ER] 0.159%0.15 = 0.024 m2
WEIIHEER: 4
+[/NEE: - BN ER] 0.159%0.15 = 0.024 m2
WEIIHEER: 5
+[/NEE: - B HEER] 0.159%0.15 = 0.024 m2
HEIIHEER: 6
+[/NEE: 1B N ER] 0.159%0.15 = 0.024 m2
EIIEER 7
+[/NEE: - BN ER] 0.159%0.15 = 0.024 m2
HEIIHEER: 8
+[/NERA-FEILHEER] 0.047*0.15+[/NER:2- 3 3L 5 E%] 0.112*0.15 = 0.024 m2
EIIHEER: 9

+[/NEE: 1B N ER] 0.159%0.15 = 0.024 m2
BILNEER: 10

+[/NEE: - BN ER] 0.159%0.15 = 0.024 m2
ISR 11

+[/NEE:1-FB I N ER] 0.159%0.15 = 0.024 m2
BINEER: 12

+[/NEE:1-FB I N ER] 0.159%0.15 = 0.024 m2
BIINEER: 13

+[/NEE: - BTN ER] 0.159%0.15 = 0.024 m2
BIINEER: 14

+[/NEE:1-FB I N ER] 0.159%0.15 = 0.024 m2
BILNEER: 15
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ﬁﬁ%gﬁgﬁﬁﬁaurwymm=ow4mz
ﬁﬁ%gﬁyﬁﬁﬁaurwymm=owsmz
ﬁﬁ%gﬁgﬁﬁﬁﬁwﬂmmﬁ&mowmz
ﬁﬁ%gﬁgﬁﬁﬁaummmms=o%0mz
ﬁﬁ%g%gﬁﬁﬁﬁwﬂ%mﬁ&wOMmz
ﬁi%gﬁyﬁﬁﬁﬁﬂrmymw=0%0m2
ﬁi%g%yﬁﬁ%$urmmmm=owgmz
ﬁi%g%gﬁﬁ%$urmwmm=owgmz
ﬁi%g%xﬁﬁ%$urmwmm=owgmz
ﬁi%g%gﬁﬁ%$urmvmm=owgmz
ﬁi%g%gﬁﬁ%$urmwmm=owgmz
zﬁﬁ%é\fé}'ﬁﬁuﬁsﬁ] 0.145%0.15+[/1\Bt:2- #1715 F%] 0.04970.15 = 0.029 m2
ﬁi%g%gﬁﬁ%$urmwmm=owgmz
ﬁi%g%gﬁﬁ%$urmvmm=owgmz
ﬁi%gﬁgﬁﬁ%$urmvmm=owgmz
ﬁi%gﬁyﬁﬁ%$urmvmm=owgmz
zﬁﬁ%é\fé;'ﬁﬁuﬁsﬁ] 0.028"0.15+[/INB:2- &3 # B¥] 0.165%0.15 = 0.029 m2
ﬁi%gﬁgﬁﬁﬁﬁurmmmm=awgmz
ﬁi%gﬁxﬁﬁﬁﬁurmmmm=awgmz
ﬁi%gﬁgﬁﬁﬁﬁurmwmm=am0mz
;ﬁﬁéé\fs 23 B HEER] 0.296%0.15 = 0.044 m2
B E/NEE: +1.013 = 1.013 m2

PNA21-01 E.:K - 0.y x
ﬁ%@g&[ggﬁhg (SIS A TR AIBRF3R: 6 [X5:+20,Y11:+203]
“fé’if*’?ﬁ““**“) $KE | AR EEAL2.35"2.35cmE 5
BT IR 1
+[/NER1-IB LB ER] 1.600%0.15 =
ﬁﬁﬂ%ﬁ&“:xz I AEER] 0*0.15 = 0.240 m2
+[/NER1-JB LB ER] 0.330%0.15 =
ﬁﬁﬂ%ﬁ&:}% IEER] 0.15=0.050 m2
+[/NER1-JB LB ER] 1.600%0.15 =
351‘[}1%5&“:2 I AEER] 0*0.15 = 0.240 m2
+[/NER1-B LB ER] 0.330%0.15 = 0.
BI_EB I BB /NEL = 0.579 m2 0o0m2
LLE/NET: +0.579 = 0.579 m2

PNA21-01[#Z]: 4F ﬁﬁ;{;“ ) LE AR ; "
pel e BILis B E]: LB AR 7 [X5:+20,Y11:+231]
ﬁﬁﬁgﬁmﬁﬂm)%mﬁ/mﬁﬁﬂﬁﬁ%z%vﬁwmﬁgﬁ
R 1
+[/MBE1-BIL R ER] 1.600%0.05 = 0.
YL BT BB /NET =XO].080 m2 0.080 m2
- KL E/MEt: +0.080 = 0.080 m2
BB ERIAL(2) FkE / HEARITEERRI SHRBKEENE
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TR
BILNEER: 1
+I/NE: MBI G ER] 1.600%0.25 =
RGBT = 0d00ma
LLE /gt +0.400 = 0.400 m2

PN%@:&%E&E{E%;F DEIERERE: LERFE: 11 [X5:-47,KY1 3:-1 é?]
ﬁﬁf};&%ﬁ?ﬁﬂﬁﬂ:(ﬂ HAKE HEMAITEEG2.35*2.35cmBER

IS 1

ﬁﬁéé;% 1-¥B 3L HEF%] 0.100%0.05 = 0.005 m2

351%]@;&3 1-¥B 3L HEER] 0.147%0.05 = 0.007 m2

351%]@;&4 1-¥B 3L HEER] 0.147%0.05 = 0.007 m2

351%]@;&5 1-¥B 3L HEER] 0.147%0.05 = 0.007 m2

aﬁj;ég&e 1-¥B 3L HEER] 0.147%0.05 = 0.007 m2

351%]@;5&7 1-¥B 3L HEER] 0.147%0.05 = 0.007 m2

agj;ég&s 1-¥B 3L HEER] 0.147%0.05 = 0.007 m2

aﬁi%/g&g 1-¥B 3L HEER] 0.147%0.05 = 0.007 m2

ﬁj%g% 2) FBIIHEER] 0.147%0.05 = 0.007 m2

ﬁﬁ%lé\;%l FBIL4EE%] 0.147%0.05 = 0.007 m2

ﬁi;ég% 12 -FBIIHEER] 0.124%0.05+[/Nex: 2- 1831 & BR] 0.023%0.05 = 0.007 m2

ﬁj%g% ; FBIL4EE%] 0.147%0.05 = 0.007 m2

ﬁj%g% 11 FBIL4EE%] 0.147%0.05 = 0.007 m2

ﬁj%g% ; FBIL4EE%] 0.147%0.05 = 0.007 m2

ﬁj%g% 23 FBIL4EE%] 0.147%0.05 = 0.007 m2

ﬁj%g% 17 FB L& %] 0.147%0.05 = 0.007 m2

ﬁﬁf}fﬁ}?ﬁl}ﬁ*&l:@) SEKE | EHRITEER 55 ABKEERE

BIIAREE: 1

ﬁj;égg; FBIIHEER] 0.100%0.25 = 0.025 m2

zgj;ég&; FB L& %] 0.147%0.25 = 0.037 m2

zgj;ég? FB L& Y] 0.147%0.25 = 0.037 m2

ﬁﬁé‘%&; FB L& Y] 0.147%0.25 = 0.037 m2

ﬁj;gg;; FBIL4EE%] 0.147%0.25 = 0.037 m2

ﬁj;gg;; FBIL &%) 0.147%0.25 = 0.037 m2

ﬁj;gg;; FBIL4EEY] 0.147%0.25 = 0.037 m2

ﬁj;gg;; FB L& Y] 0.147%0.25 = 0.037 m2

ﬁj%g% 2) FB L& Y] 0.147%0.25 = 0.037 m2

ﬁj;é.‘lé\;%l FB L& %] 0.147%0.25 = 0.037 m2

ﬁi%g% 12 FBILHEER] 0.124%0.25+[/NER:2-¥B 3T 5 E%] 0.023%0.25 = 0.037 m2
+[/NER: 1B ER] 0.1470.25 = 0.037 m2
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BILNBER: 13

+[/NER: 1B HEER] 0.147%0.25 = 0.037 m2
BILNEER: 14

+[/NER: 1B HEER] 0.147%0.25 = 0.037 m2
BILNEER: 15

+[/NER: 1B ER] 0.147%0.25 = 0.037 m2
BILNEER: 16

+[/NER: 1B ER] 0.147%0.25 = 0.037 m2
BINEER: 17

+[/NER:1-E I ER] 0.300%0.25 = 0.075 m2
LU BB /MET: = 0.651 m2

LLE/NEL: +0.651 = 0.651 m2

PNA21-01[#[8]: 4F [BILiEERE ] LB 5 [X5:+244,Y20:+182]
BIBEREETE:
ﬁﬁf};&;ﬁﬁﬂﬁ*ﬂf:m HkE I EMAITE®EEE2.35"2.35cmEER
BIIREEL: 1
+[/NER:A-FBILHE Y] 0.350%0.05+[/NE%:2- ¥ 31 8 E%] 0.070%0.05 = 0.021 m2
BIEEL: 2
+[/NER:1-FBILHEER] 1.300*0.05+[/NER :2- 5 3T $5 ER] 0.350*0.05+[/NER :3- BT Y& %] 1.470%0.05 = 0.156 m2
YL BB B /NET: = 0.177 m2
Ll E/NE: +0.177 = 0.177 m2
ﬁﬁf};&;ﬁﬁﬂﬁﬂ:(z) HKE I EARITEEIR15DAEKEERHE
BIIHEER: 1
+[/NER:A-FB IS Y] 0.350%0.25+[/N % :2-¥8 3L 8 E%] 0.070%0.25 = 0.105 m2
BIIHEER: 2
+[/NER-JBIINEER] 1.300%0.25+[/NER:2-¥E SLHE FR] 0.350%0.25+[/NER :3- 13T & E%] 1.470%0.25 = 0.780 m2
YL LIS/ MET: = 0.885 m2
LL_E/NEE: +0.885 = 0.885 m2

PNA21-01[#2[8]: 4F [BILfEERATE]: LERFR: 12 [Xé:-128,Y17;+10]

BIIEEREEHE:
ﬁﬁfﬁ%}_ﬁﬁﬂﬁﬂ:m) P4-RE MR RBAKIR (S EE)(TER)
R+t

BILHEER: 1

+[/NEE1-FEBIABER] 1.573*0.60 = 0.944 m2
BIHEER: 2

+[/NEE1-FB I ABER] 1.732%0.60 = 1.039 m2
BIHEER: 3

+[/NER1-JB I ABER] 1.294*0.60 = 0.776 m2
BILHEER: 4

+[/NEE1-JEB I AB ER] 0.626*0.60 = 0.376 m2
BILHEER: 5

+[/NEE1-FB L AB ER] 0.250%0.60 = 0.150 m2
BILHEER: 6

+[/NE&1-¥E L A5 ER] 0.800*0.60 = 0.480 m2
BIHEER: 7

+[/NEE1-FEB I A5 ER] 0.319%0.60 = 0.191 m2
KL BB TSR/ NET: = 3.956 m2

LA E/INET: +3.956 = 3.956 m2

PNA21-01[#8[B]: 4F [BILiEExAE]: SERF5R: 10 [X5:+35,Y20:+182]
BIBEREETE:
ﬁﬁfﬁﬁ_}lﬁﬁﬁlﬁfﬂaz(1) KB A AITE®mL2.35*2.35cmEER
Rt
TEIIHEER: 1
+[/NE 1B ST ER] 0.350%0.05+[/NER - 2- 38 31 #% %] 0.070*0.05 = 0.021 m2
BIINEER: 2
+[/NEE:1-FB I N ER] 1.300%0.05 = 0.065 m2
YL LB HEE /AT = 0.086 m2
LLE/NEL: +0.086 = 0.086 m2
ﬁﬁféﬁ_r*ﬁﬁuﬁﬂz(z) HKE I ERAITEEIR1SDABKEERHEG
TEIIHEER: 1
+[/ N1 -JE ST B ER] 0.350%0.30+[/INER - 2- 38 31 #5 ] 0.070*0.30 = 0.126 m2
BIINEER: 2
+[/NE%:1- BTN ER] 1.300%0.30 = 0.390 m2
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LU EBI /MDA = 0.516 m2
LLE/NEL: +0.516 = 0.516 m2

PNA21-01[#£[E]: 4F [BILfEERATE] SER: 2 [X0:+2955,Y11:+201]
WIS
B SR RIA (1) W5-010 1 2.35*2.35cm(z2mm) B & 5
FRT:

BILHEER: 1
+[/NER1-JB LB ER] 5.300%0.15 = 0.795 m2

LI BB /e = 0.795 m2
LLE/NEE: +0.795 = 0.795 m2

PNA21-01[48[E]: 4F [BILHEERA ] ERFH: 1 [X0:+3265,Y22:-172]
BINE R SIE A E
B REER I RIA #E(1) Wa-010) 1 2.35*2.35cm(x2mm) E & 5=
TRT(ETEHER):
0.93=0.930 m2
LLE/Et: +0.930 = 0.930 m2

PNA21-01[#£[8]: 4F [BiLiGEXATE]: SLEFHE: 3 [X0:+2825,Y22:-179]
BIBEREETE:
ISR RIA (1) Wh-0 0 U 2.35*2.35cm(x2mm) E &5
FR~T:

BEINEER: 1
+[/NER: - BN ER] 2.500%0.15 = 0.375 m2

YL LI HEE/MET: = 0.375 m2
LLE/NEE: +0.375 = 0.375 m2
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